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£ %[0 Microsoft B9 Al Copilot B 7 LI NREIE : As we know, water waves
move slower in a shallow region in a ripple tank. What is the cause of it?
EHEZEZ

As we know, water waves move slower in a
shallow region in a ripple tank. What is the
cause of it?

',,'b Copilot

In a ripple tank, when water waves transition
from deep water to a shallow region, they
exhibit a phenomencon called refraction. Let's
explore the cause behind this:

1. Change in Wave Speed:
© As waves encounter the boundary

between deep and shallow water, their
speed changes.

O |In deeper water, waves travel faster due
to less friction with the bottom.

© In shallower regions, the waves slow
down because of increased friction with
the bottom.

RKEKRITIE Y Z2RAKOREKERNEEIER ([ BREKER
) 7 ? ERABE MR/ \B

AN (1.1) 2REE 7 K2 non-viscous ( BBEE )M
HE R - PTIIATNFIE A viscosity E—2 8 - TMEIZETE

BGEIE LA SEERUE ? P. 8



{ERE% 7KZ non-viscous (frictionless) 2 FEFRIRH "iEK
BIHAIKREES KR ) E—1HMRK -

\

KORTERKEMEEEFKEZITHE L  BER
EORERKEEEBATHEN | HRKRTIE B
ERARKKEKENEEIZX - IBEKORERKEE
TIEANER ME—BEETEET  GRMEEK
R FHARIIE (BE) 1 -

3. KR ZKBIERKENZK - RRIE T ; BIE=
KEREIRKER FERER 7 - EX W a1 KIE
B, SRR ? EnEROEETY - BRAREE
RERE 7|

% K K * * * * K KK

1E&  ;=3#6F (Chiu-King Ng)

https://ngsir.netfirms.com

http://phy.hk

TEB : feedbackWZ@phy. hk E oWz & 23 ZI2ATEHE

BGRIEEE AR AR ? P. 9


https://ngsir.netfirms.com/
http://phy.hk/

